
 Hidrogén-fluorid Hidrogén-bromid Hidrogén-jodid 

  

   

Szilárd állapotban 
rácstípusa 

   

Szilárd állapotban a 
rácsot összetartó 
legerősebb kötés 

   

Melyiknek a 
legmagasabb a 
forráspontja? Miért? 

 

Melyiknek a 
legalacsonyabb a 
forráspontja? Miért? 

 

Jelöld nyíllal a 
saverősség 
növekedésének irányát! 

 

Vizes oldatának 
reakciója oxigénnel 
(egyenlettel) 

   

Vizes oldatának 
reakciója ezüst-nitráttal 
(egyenlettel) 

   

Vizes oldatának 
reakciója klórgázzal 
(egyenlettel) 

   

Melyik használható 
üvegmaratásra? 
(egyenlettel) 

 

 


